
   21 G10 CH 2 WS 9 Polynomials 
 

  
 

  

Grade - 10 www.thirdapple.in 1 

Polynomials : Worksheet -9 

1. Find the value of a and b so that baxxxx ++−+ 234 2148  is exactly 

divisible by 234 2 −+ xx  

 

 

 

 

 

 

 

2. If  and  are the zeroes of the polynomial 276 2 +− yy , find a 

quadratic polynomial whose zeroes are 


11
and . 
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3. Check by division whether 22 −x  is a factor of 32234 −−++ xxxx . 

 

 

 

 

 

 

 

 

4. If the polynomial ( ) 1051133 234 +−−+= xxxxxf  is completely divisible 

by 53 2 −x , find all its zeroes. 

 

 

 


